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Class 4th

Bloom Reasoning Olympiad (BRO)

Question Paper 2022

Write and circle your Mobile Number and Subject clearly on the Answer sheet and do

not forget to sign.
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1. Select the odd letters from the given alternatives.

(a) DFJ (b) EGI (c) MOQ (d) PRT

2. How many total triangles and squares are there in the given figure?

(a) 12 (b) 9 (c) 24 (d) 16

3. Which of the following answer figure will complete the question figure?

4. In the following question, select the word which cannot be formed using the letters of the given

word.

‘ASSOCIATION’

(a) CONSIST (b) SAINT (c) INSIST (d) SCENT

5. Aparna walked 9 km towards East and then 12 km towards South. How far is she from the

starting point?

(a) 16 km (b) 18 km

(c) 15 km (d) 20 km

6. Which number will replace the question mark?

(a) 4800 (b) 1300

(c) 3600 (d) 3240
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7. Find the mirror image of the figure (X).

8. Arrange the given words in the sequence in which they occur in the dictionary?

1. Sequal 2. Source 3. Simple 4. Society

(a) 1, 2, 3, 4 (b) 3, 2, 1, 4

(c) 4, 1, 2, 3 (d) 1, 3, 4, 2

9. If ‘Sunflower’ is called ‘Rose’, ‘Rose’ is called ‘Lotus’ and ‘Lotus’ is called Lily. Which flower is called

national flower?

(a) Rose (b) Sunflower

(c) Lily (d) Lotus

10. What comes next in the following series?

11. Find the figure which will replaces the question mark(?).
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12. In which of the following answer figures, the question figure is hidden?

13. In a queue of grocery shop, Ramesh is 12th from the last. If there are 63 person in the queue,

find his rank from the counter of shop.

(a) 62 (b) 52 (c) 17 (d) 45

14. Select the odd one out from the following options.

(a) Pen (b) Pencil

(c) Eraser (d) Biscuit

15. Karan will go to his cousin’s house on 12th August and will stay there for three nights. On what

date will Karan leave his cousin’s house?

(a) 14th August (b) 16th August

(c) 17th August (d) 15th August

16. Which figure will come next in the following series?

17. Choose the word that complete the second pair in the same way as the first pair.

Healthy : Sick : : Far : ?

(a) Near (b) Sad

(c) Fat (d) Strong

18. Find the mirror image of the following figure.

(a) (b) (c) (d)
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19. Complete the second pair in the same way as the first pair.

20. Which of the following part is exactly embedded in question figure (X) ?

21. Find the figure which will complete the given pattern.

22. Select a category of given word so formed by combination of letters arranged accordingly to

form a meaningful word.

L A B K C

(a) Fruit (b) Colour (c) Stationary (d) Vegetables

23. Find the total number of vertical lines in the following figure.

(a) 6 (b) 8 (c) 5 (d) 10

24. If yesterday was Wednesday, then what day of week will be seventh day from today be?

(a) Sunday (b) Wednesday (c) Friday (d) Thursday
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25. Choose the odd one out from the given options.

(a) Truthful (b) Sincere (c) Honest (d) Rain

26. Select the option that is related to the third number in the same way as the second number is

related to the first number.

16 : 800 : : 12 : ?

(a) 1000 (b) 500 (c) 600 (d) 1200

27. Kavita started running from her house, she first run for 10 m towards West and then she turned

towards 16 m right. In which direction Kavita is from the starting point?

(a) West (b) South-West (c) North-West (d) East

28. What comes next in the following series?

29. Which number in the box is odd one?

(a) 41 (b) 37

(c) 74 (d) 25

30. If ‘COBBLER’ is coded as ‘DPCCMFS’ then ‘POTTER’ will be coded as _____________ .

(a) SQTUES (b) PSQUFS

(c) TACQZX (d) QPUUFS

31. Find the missing number in the following sequence?

(a) 7 (b) 9

(c) 5 (d) 13
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32. The position of how many digits in the number 8 6 3 3 7 1 4 9 5 2 3 will remain unchanged after

the digits are rearranged in descending order within the number?

(a) One (b) Three

(c) Two (d) Five

33. What comes next in the following pattern?

34. If ‘CONQUER’ is coded as ‘4238761’. ‘STYLE’ is coded as ‘509#6’. What is the code for ‘QUEST’?

(a) 74861 (b) 71283

(c) 246#3 (d) 87650

35. Richa starts from a point and walks 4 km towards East and turning to her left. She moves 2 km.

After this, she again turns to her left and moves 4 km. Now, how far is she from her starting

point?

(a) 3 km (b) 6 km

(c) 2 km (d) 5 km
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ANSWER KEY

Reasoning Class 4th

1. (a) 19. (b)

2. (b) 20. (d)

3. (c) 21. (a)

4. (d) 22. (b)

5. (c) 23. (c)

6. (d) 24. (d)

7. (b) 25. (d)

8. (d) 26. (c)

9. (c) 27. (c)

10. (d) 28. (c)

11. (d) 29. (c)

12. (d) 30. (d)

13. (b) 31. (a)

14. (d) 32. (a)

15. (d) 33. (b)

16. (c) 34. (d)

17. (a) 35. (c)

18. (c)






